How to construct a folding gate

SR E—Rral]

Author: SW Boon
Intelligent Network Sdn. Bhd.
htttp://www.dcmoto.my

Tel: (+60) 04-229 8185
email: dcmoto.penang@yahoo.com

7

\

\\
mxi

The application notes are the original works by the author.
Copyright is reserved. Reproduction is prohibited.
The contents are solely for professional reference purpose.
Readers are free to use the information provided, including
the design, shapes and dimension to construct the project.
You are informed that the author will hold no responsibility
against any damages, including injury or death arise from
the works.

LR FRfERITOEEIREY, WRANPRA, FEJEBED.
HERRARESERR. E&E B HRNAETR
s, fERt, MK RYLTIRE.
{RETEILLARE, EARMEEXTIEmERIED
KT, (FE—ARER.

Contents:

1) The 3 common problems
2) The dimensions guide

3) The swivel roller

4) The ball bearing hinge
5) The connecting brackets

NE :
1) =& RAYERE
2) FERTHES:
3) iRk
4) RIREHR )5k
5) TR




The 3 common problems encountered during constructing a folding gate
H Bl I EESRI=Na&

Too much heavy material, like solid metal bar or wood panel, causing the structure to sag
FEHTE (WNSLORAERARIR ) GRS T

o

Roller press hard against the rail
=¥~ making it difficult to move
<« ;

RECIRIREER | RYERDD

Too much enclosed surface will have problem during a windy day
SEEAWERS , SRMNIRTHIERERE

cannot move

TRERBTN

@ The wrong opening angle will cause the gate refuse to close

BRBREI IRE BIEX]

(>90 degree)

You can rectify the error by adjusting the swivel roller
X YIEERNT ER PR E
Po

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



EHE

7
\<

7 7

/ |
(]

(2]

i It Q
(@]

o v / >
=

/ LL

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



- w T N S
e[ = [ e MaIA wonog
=l —L
aiqessnipy I f}ﬁ@
(09~0€) St &
wwQg ~ WWGg = Jayewelq ey
[ AN
L —~ [
%
aiqeisnipy F
Ei =] |-
#Hehlo (09~0¢€) G z
T
(2]
=1
J |
144 ™ sz
o2}
4
WWZ ~ WWG' | = SSauoIy ]
UO1}09S SSOIO WIWQ/X WWIGE JO WWEY X WWgE
awel
| S
(=] (=]
o o
vl ! vl

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



(wg 0} wy = 80} Jybu + Ya)

Wi 0} wg

(12303 3yBU + Yoy) W g = Yipim 8yeb Joj 05

(1e1011ybu + Ya|) W = ypim 81eb 1o} 002

|
1 0G€ 01 00Z

9oUE)SIp pue a|bue ay} }eb 0} }snipe

AR

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



Constructing a swivel roller
HE—MEDRES

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



421

2 2
- w -
)
0
o
©
38,1
I 1
= =
AN
™
[ ®5
[ce]
Ji /0 .
| I | : : I
I
™

100

.
]
—

411

60

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



NN

\. \ Gate Mounting Bracket

Ball bearing cylinder

(L S— ) 6200Ball bearing x 3pcs

N~

Swivel pivot joint

@ mounting bracket

|\
M8 x50 Hexagon bolt @ @'
Ball bearing spacer
6200 Ball bearing @ f B
j @ 6200 Ball bearing
Ball bearing spacer

Main roller

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



|

/////////////

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



\I‘é\“ I

-
| | Q“Y | |
Gate Mounting Bracket
o
(o]
2 . 2
4
N _
o ¥ 43 N
X | ! g

60

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



Ball bearing cylinder

@37
34
AN
(4p]
26 a |
\ \ 3 37 N
z - W [a\] | |
o}
P @30
/ | (7
| 30 |

Intelligent Network Sdn. Bhd

., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



41.2
©
0 \ )
N o
©
Roller mounting bracket
60
To]
(ap]
Q r L L
& 3 || 35.2

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



29,79
28,04
| | i
7,55‘ |
Y
' 1&g
oo N

30
25

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



10

AN
[sp}
w
¢ 2
N e —
Swivel pivot joint 18 ‘ 0
20
D e
. o 007 o
Ball bearing spacer N v -

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



Constructing a ball bearing hinge

BE—NRERGR| I8k

Q

.l‘.‘l‘ M10 Hexagon nut

=0

«@» Outer base
= 4’

~

\/ M10 X 20 Hexagon bolt

@ 6203 ball bearing

\m
Inner base

‘<|‘¢->‘l’) M10 Hexagon nut

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com




©

9

‘ ‘

v

)

N\

N
14

42

N
(
20

- -
/ 7 o %
0,

>
welding R
@y

17

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



Center fold

C

Pillar to gate

cut to fit the pillar

38
N
[
-e}\
38

Thickness = 5mm

58 ‘
‘ 42,6

4.5

The connecting brackets for the ball bearing hinges

WG EENESED A

Intelligent Network Sdn. Bhd., htttp://www.dcmoto.my Tel: (+60) 04-229 8185 email: dcmoto.penang@yahoo.com



